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What are we trying to accomplish?

How will we know that
changes are an improvement?

What changes can we
make that will result in

an improvement? Test Ideas & Changes with
Cycles for Learning and
(l DEAS) Improvement
*x !
A9 Changes that

\ &2 result in
/ improvement
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PRIVATE PRACTICE MODEL CONSENSUS PUBLIC HEALTH MODEL
STAFFING FTE RATE/HOUR FTE RATE/HOUR
Provider 1.0NP $ 50 1.0 NP $ 50
RN 0.5 $ 20 10* $40
Clinic Assistant 1.0 S 18 0.5 $9
Lab 0.15 S 2.70 0.5** $9
Interpreter (compare to PH) 0.75 $21 0.75%** $21
Clerical (Reception, Eligibility, 1.0 $18 1.0 $18
Med Records)
Billing 0.25 54.50 0.25 545
Total all staff per hour $132.20 G 1515
Total all staff X 8H/day $ 1,073 $1 210
Total all staff X 2080H/year $ 279,136 Q315,120 A |
Projected revenue®*** $ 374,400 > $ 374,400
Revenue minus costs Y 5Uu5.76d0 $ 59,280

. Assumes a minimum of 40% preventativi

=*  Assumes primary care plus WCH
=== Assumes no providers or staff ag

==== NP/PA average 200z

? 2%

Fz2+ 2 $ F
J?'""H ? 2 $JIK>?F H:K>

#

**

PRIVATE PRACTICE MODEL CONSENSUS PUBLIC HEALTH MODEL

STAFFING FTE RATE/HOUR FTE RATE/HOUR
Provider 1.ONP S 50 1.0NP $50
RN 0.5 $ 20 10* $40
Clinic Assistant 1.0 § 18 0.5 $9
Lab 0.15 $2.70 0.5** $9
Interpreter (compare to PH) 0.75 s21 0.75%** s
Clerical (Reception, Eligibility, 1.0 S18 1.0 518
Med Records)
Billing 0.25 $4.50
Total all staff per hour $132.20 S 151.5
Total all staff X 8H/day $1,013 $1,212
Total all staff X 2080H/year $ 279,136

$ 315,120
Projected revenue**** $ 374,400
Revenue minus costs $ 95,264

$ 374,400

559,280
) S 2 % $ e
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**

PRIVATE PRACTICE MODEL CONSENSUS PUBLIC HEALTH MODEL

STAFFING FTE RATE/HOUR FTE RATE/HOUR
Provider 1.ONP S 50 1.0NP $ 50
RN 0.5 $ 20 1.0* $40
Clinic Assistant 1.0 S 18 0.5 $9
Lab 0.15 $2.70 0.5** $9
Interpreter (compare to PH) 0.75 §21 0.75%** s21
Clerical (Reception, Eligibility, 1.0 518 1.0 618
Med Records)
Billing 0.25 $4.50 0.25 $4.5
Total all staff per hour $132.20 151.5
Total all staff X 8H/day $1,073 _S1212
Total all staff X 2080H/year $ 279,136 C $315120)

IN/
Projected revenue®*** C $374,400 ) /| _Sexna0q
Revenue minus costs A 505068 )y L $59,280 )

t/ pd
$7 )$ 2 |
G % %% 2
A 4
K 6 2 1?22 $: #2 % $ + $
K<6l<6 2 $ $ LS $2 %!
1 [ 1]
)
CONSENSUS PROPOSED INTERIM
PUBLIC HEALTH MODEL PUBLIC HEALTH MODEL DEC 2013

STAFFING FTE [ RATE/HOUR FTE [ RATE/HOUR
Provider
RN 1.0* $40 2.0 580
Clinic Assistant 0.5 $9
Lab 05" 59 05 59
Interpreter (compare to PH) O755EE S22l 075 21
Clerical (Reception, Eligibility, 1.0 $18 20 $36
Med Records)
Billing 0.25 $4.5 05 $9

Total all staff per hour

$1,212

Total all staff X 8H/day $1,640
Total all staff X 2080H/year $ 315,120 $426,400
Projected revenue**** $ 374,400 $374,400(
Revenue minus costs $ 59,280

| $%& \ﬂ)
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What are we trying to accomplish?

How will we know that
changes are an improvement?

What changes can we
make that will result in

an improvement? Test Ideas & Changes with
Cycles for Learning and
(l DEAS) Improvement
*x !
A9 Changes that

\’ea‘“ result in
/ improvement
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